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Criid : 3 wemnf) | [ Qwrss wdiQuersdr : 200
Time Allowed : 3 Hours ] [Maximum Marks : 200
leyenr 1 (1) Adansg NearssEpn sMwrs udleurd) o drergm 6T 63T LI & G0 G

eflurTégis Qameremayib. Fsuugleiler Gopulmluler imns
et mrentlLiumerfLib 2 Larquirs Csfelésaw.
2)  Beob sibag HmHLIL ewuSaner GG er(gieusnEL LweTU(h&S
Gouahr(Hd. LI Riger uMIeISHE Cluemdled LweBgse,L.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.
(2) Use Black or Blue ink to write and pencil to draw diagrams.

u@&S - =) / PART - A
GO : eT6v60n aflamésss(améELh ellenL_wiefllgsaib
Note : Answer all the questions.
14x1=14
L sflurer eflenenws CeibOshiss eruwsis.

Choose the correct answer for the following :

L upprEGmn Qessarsden @ AN :

(1) L b evfls (=) eTpLeus s

(8) 2w wriage (FF) Qeowened Fmilemen
The author of scarcity definition is :

(@) Adam Smith (b) Samuelson

(c) Alfred Marshall (d) Lionel Robbins
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2. uerls QUITHETTSTTLD GTETLIG)
(1) sanaflempel QurmeTTgTyd (<) EHMSU QUIT(RETTSTTLD
(@) slLenerl QUTEHETTSTILD (/) uwemrediwed QUTHETTSTTLD
Traditional economy is a :

(a) Subsistence economy (b) Market economy

() Command economy (d) Monetary economy

3.  uwwerur® erestug)
(1) 595 SO
(<) 2_6T@pERTTa| ETTHS HOD 2 eTellud HMHSS!
(@) <réen &HSS)
() Sifleflud sBHSS)
Utility is a :
(a) Social concept
(b) Subjective/ Psychological concept
(c) Political concept

(d) Scientific concept

4. uar_sdpstar Cama Gmens FTTHSS!
(=) uaTLgden cilenew (<) smihs LT aseflan edlane
(@) eumred () Guhsadiu DESHID
Demand for a commodity depends on :

(a) Price of that commodity (b) Price of related goods
() Income (d) All the above
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Comauuden iflsfliomu Qseamrpald srararis

(1) Cazwan auamarCar® @Lib QuiuTeug)

(<) @Cr Caemeu maTECaTL g6 BaThHS) Cleeayigen N
(8) Cseeu euamenGam .6 o 5L eraf

() Goemeu euapenCam_iger &puieref]

Increase in demand is shown by :

(a) Movement along the same demand curve

(b)  Shifts of the demand curve

(c)  The highest point on the demand curve

(d) Lowest point on the demand curve

Bawr_ sregded

(1) ereber smrenflaEnid wrmid

(<) orod sryesfl UG LT

(8) wrpr srrenfl WU AL wrHH

(FF) ommibd wHmIb wroT STrefsdr Bleveowirs @\mésLb.
In the long period :

(@) All factors change

(b)  Only variable factor changes

(c)  Only fixed factor changes

(d) Variable and fixed factors remain constant

Blevgdleor <2pTbu eflliy elene

(=) YGBuwib () pamisEd sifswrearg
(8) pamsEL Gopaurarg () RANESE FOOTEIG)
The initial Supply price of land is :

(@) Zero (b)  Greater than one

(c) Less than one (d) Equal to one

[ &®LLs / Turn over
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10.

11.

4
o gennd QFewey ETETLIG)
(1) glemud HDID Huirsd (a;_l,,) > dTEnEmTie] FMMbSS!
(@) pupslud Huirspid (rr) CpsTamid SIHESSILD
Real cost is : |
(2) Pain and sacrifice (b) Subjective concept

(c) Efforts and foregoing leisure (d) Al the above

erpHlanaoudier Hipeuantd soblepeu Qumtd
(=) MC=MR (<) MC=AC (@) MR=AR () MR=AC
A firm can achieve equilibrium when its :

(@) MC= MR (b)) MC=AC () MR=AR (d) MR=AC

Biramw eNHLILS Cariuriigen Aflur
(o) IM. Sando (=) wriased (@) srp@aidsen () @B
The author of liquidity preference theory is :

(a) J.M. Keynes (b) Marshall (c) Samuelson (d) Knight

4

QgmemenioL @er@éarﬂuud) Garur@...... HoajeusTss EIGELVESD
(1) Gaueneoudicoem Hlepev (<=3 LDODWPS Gouanevudlemenin
(@) wuGeaame Hlene (r) Geouewad @D

The classical theory assumed the existence of |

(a) Unemploymeﬁt e (b) Disguised unemployment

(c) Full employment (d) Under-employment
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12. Guflwed Qumr@errsrysder epwils Aysaner
(=1) eumwrerpd CeueneveumiliLj
(=4,) efeweowd GQeuafui@ib

(@) euliguyd weamrepd

(/) ergidlaoeme

The central problem in Macro Economics is :
(a) Income and employment

(b) Price and output

(c) Interest and Money

(d) None

13. uesbsraTmsm SwoU(HSSeUs)

3108

(1) &I oire (=) LrBle oire
(@) wsHwu eumd (/F) saflwri giewm
Monetary policy is controlled by :

(a) Central government (b) State government
(c) Central bank (d) Private sector

4. gmlu pléfloew eifsmsuld geaGerm ey @b
DTS THMSQETETer LB S, '

(1) SigliuaL (=) B8

(@) ygu (/) &eve

In ZBB every year is considered as a :

(a) base year (b) financial year
(c) new year (d) academic year

Camgl L @ hisamer Hriys
Fill in the blanks :

15. 2 pugd erariu(eug 2 (HEUTE@GEUST(GLD.
Strictly speaking production refers to the creation of

16. Fgiwl urmerrerrsden wedu Crrésid

The prime motive of Socialist economy is

O

12x1=12
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17.

18.

19.

20.

o

22,

23.

24.

25.

26.

6

GraTLg) LTL ks, Leaflsmer LwWETUBSSIesTGLD.

means using up of goods and services.

EWETL IpsvsssaTs Csmalu@b ueaTLmsd
ellenereum@Lb.

Goods that are demanded for their social prestige comes under effect.

SmETy s sTasde alliys Car®

The supply curve in the market period is a line.

e smsmguier clfley aperpullen aTeneus Soren&SEng.

is limited by the extent of market.

LanrEG geedlenet TN BENLPESETLD.

" Money cost is also called

Blmeuers e srrefl eu@eumwTang), gyraifl G]&éusmeusﬁ]L 2AH SIS
@ U6 2iBHlmieueTD L (HID. '

When the average Revenue of the firm is greater than its average cost, the firm is
earning

IO 2THWILD reLig) Qevencu @GHILILIG.

Transfer earnings refer to cost.

SLTbL (PSS G @TTe aUBLTESS® erpuBD Mfeursasdlen eflenaray

ellenaTe] @GLD.
The magnified effect of initial investment on income is called effect.
Sra|ld LIaTeisssms TATNHILD BIEDLPESEMLD.

Galloping inflation is also known as

aufledSQen oigliien & Gariumi e erenm 2emp&SComb.

are considered as fundamental principles of taxation.



II. &Qm@ajmmﬁ)mmu CumBEEIs

27. G&eeuld

()

. 28. @ophHsULE 2 HUSHE QFway (b)

29. swCrréE cuemarGar(

30. Ed>1

31. sgwhlene

32. o pugd Friy

33. perare srrefl Qgwa
cuaarCam(H)

34. pomflepwwirert Gurii.

35. orés 2 Mevd smalls Camumr@

36. K. '

37. &ellub eflenewd genenm

CQuirenm semErdns
38. yefls eufledfiiy aperm

Match the following :

27. Wealth

28. Minimum cost

29. Indifference curve

30. Ed>1

31. Equilibrium

32. Production function

33. The long run average cost curve
34. Monopolistic competition

35. Residual claimant theory

36. K.

37.

38. Canons of taxation

Wages and prices push

(c)
(d)
()
(9
(8

(d)

)
(8)
(h)
@)
()
(k)
)
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12x1=12
&STUL 66
AL auamerGar(
EH. Caburele
QUITESIT
1/1 - MPC
eariifg CFOQId LaTeiEsLd

9L bevLolG

aflene WHMID HeTelem @)enanr
lens Cyencu QpSLpEs
By

2FlsLl g parenlo

FTSTTERT ST

Cobb-Douglas
Planning curve
EH. Chambel;lin
Walker

1/1 - MPC
Creeping inflation
Adam smith

pair of : price and quantity
inelastic demand
stock

Maximum benefit

ordinal ranking

[- ,‘Q(ﬂju I_fai / Turn over.
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IV. Qeneumbd eflamssensd oflm derpsefld o sms ' 12x1=12
Answer each of the following questions in a word or two :
39. er&amGlolfléay erantiu(eugl aThOSHS LT BiGmar 2 6rar._GHuig ?

What are the subjects that econometrics make use of ?

40. LU CUTHETTSTID ¢ g,maﬂsmmmu. Qum@gTrTOT ?

Is traditional economy a subsistence economy ?

41. sw-@migHleveos weruTiqMH@, Ceum@uwIT eresar ?
What is the other name for the law of Equi-Marginal Utility ?

42. yerafl wpeppufler eumiiiur(D&6T ereme ?

Give the formula for point method.

43. srogder undlamer PlpslLGSHweuT wrr ?

Who has introduced the time element ?

44. 50 Ierey 2 HUSEHS CarlignE CaupQuuir wrg ?

What is other name for isoquant ?

45. gyrEfl Ceensy ereucurmy sasréd(Heumis ?

How will you calculate AC ?

46. MRTP &LL b 6Thg par(h @QupolulL g ?
In which year the MRTP Act was passed ?

47. @eru - eurr&Gamiumger < ARwir wri ?

Who is the author of the rent theory of profits ?

48. ].B. Cauller shang eldlenws sams.
State ].B. Say’s Law of Market.
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49. VesGeus Laeisasdamear s6855 @ BT g ?

Give the example of a country that experienced hyperinflation.
50. euffl ereig) erese ?

What is a tax ?

UGS - i, / PART - B
GOy : () eauCuaib ugg lamssErsE el wealdsan. 10x3=30
(i) @aCeurm e b BranG sdwg mbs eufsaid
Senwpl Ceuenr(HLb.
Note : (i)  Answer any ten of the following questions.
(i) Answer for each question should be about four or five lines.

51. Glummerrgmynd updl SpOATL wriagelen Qessamrd wrg ?

State Alfred Marshall’s definition of economics.
52. &g @(H FWSTWSSQID sTanrlL@BLD SigliLeL L GrEmanser wrena ?

What are the basic issues of any society ?
53. eaumiuyd CFee] ereimme eremest ?

What is opportunity cost ?
54. SONBULIRISERSESTET STTETRISET WTEe ?

What are the causes for wants ?
55. Gaeneu eremmig) creven ?

What is demand ?
56. <efluy&s&Garh QLbCuwiTsaissTear sryafisdr wWrames ?

What are the determinants of shift in supply ?
57. Smemg&sTeb - Sn@hll eimrs.

Write a short note on market period ?
58. 2 enpliL| eremmmed ereven ?

Define labour.

[ Spliys / Turn over
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59. (pPFATSHE allqCURISGET WTenel ?

What are the forms of capital ?

60. QummeTTgTrE QFwey ETENDTE Gramar ?

What are economic costs ?

61. @ndfemas Qgoney erenpred cramer ?

Define marginal cost.

62. THD 2eTSHWID T WTH ?

What is “Transfer earnings” ?

63. 2.mds Coemeu erannTe) erever ?

What is effective demand ?

64. U6 BTG FMmiSET WTEne ?

What are the four components of money supply ?

65. LW (zero budget) Adlflone bl&ens eTempred Gresient ?
What is zero based budget ?

u@S - @ / PART-C

VI. @iy : () eramauCued oy amssErée oL walssald 6x10=60
() geaQeurm doLwb @m Uss Aereild S| HSHL
Geuat(HLb.
Note : (i) Answer any six of the following questions.

(i) Answer for each question should be about a page.

66. Gpeuriiig Qswemel 2 STreTssiL o laréEs.

Explain ‘Opportunity cost’ with an example.



67,

68.

69.

70.

71.

72,

73.

74,

75.
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CeenausGan(h QL bAuuTsame eUETLIL S&IL_a cllaTd (5.

Explain the shift in demand with the help of a diagram.

(Ssusmuu@uu wpeopuller SpliLseeruibd, @mmammum a6 5.

Explam the merits and demerits of division of labour

Bawr_sre syrefs Qeavay auanerGar(® um @QS]LM CUENS.

Give a note on long run average cost curve.

SAC pmib SMC &@ 2 6ter 2 malSlenars Fn )5

Explain the relationship between SAC and SMC.

ponflemwawus sl Gru@ssin auflpepmaeT Wireneu ?

What are the methods of controlling monopoly ?

bene Gamlum g6 sTITbES@S LIL LD uamrng edlersEs.

Draw the flow chart to depict the essence of keynes theory.

BisTeneus SroreisELd aumlored sadly 9 sryenlsamens Fam).

What are the determinants of consumption other than income ?

wrble oirfer wpéd aufleumeuris whyib auflwmm QU(HEUTI GTeney ?

GTeney ?

What are main sources of tax and non-tax revenue of the State Government ?

BlfsCsrareansuien auerwenn wrg ?

What are the limitations of fiscal policy ?

[ &pliys / Turn over
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VIL @oliy : ()  eraneuCuignib pwestmy eflanmésené@ eflenL wafldsaLb. 3x20=60

12

@S - m / PART-D

S

() eeuGaimm eflewLwyb apeirm WEF:S < ereila
SimwbH L Ceuar(hib.

Note : (i)  Answer any three of the following questions.

76.

77.

78.

79.

80.

81.

(i) Answer for each question should be about three pages.

Qur@melluas@nd Gp sus PuosEpsEL 2 drer QgriiGamar
elfleurdlssaib.

Discuss the relationship between economics and other social sciences.

B&fGauri 2 uflew UL euenrbg), @I (PpSEWLSSIeUD HD LD
SarTlielsenar ellemé 5.

Explain Consumer’s Surplus with the help of a diagram and bring out its
importance and its criticism.

Ggemau ellflu@enar - efleuriors CT(LHGIS.

Discuss the law of demand.

Blevmajs Guri iy whmib ppmiflennew Caumu@®és)s.

Differentiate the perfect competition from monopoly.

sLablEl ailigs Carium igevar afleu.

Describe Loanable funds theory of interest.

uangglen uarflaamar efleuflsseyb.

Describe the functions of money.

-00o0-



